
Gewichtung der Noten

Berufsabschlussprüfung – Landwirtschaftswerker/-in

(Beispiel)

1. Betriebliche Prüfung

1.1 Pflanzenproduktion (praktisch/mündlich)1) 3,00

1.2 Tierproduktion (praktisch/mündlich)1) 5,00

x (3,00 + 5,00) : 2 = 4,00

2. Schriftliche Prüfung

2.1 Pflanzenproduktion 5,00

2.2 Tierproduktion 5,00

2.3 Wirtschafts- und Sozialkunde 5,00

x (5,00 + 5,00 + 5,00) : 3 = 5,00

Gesamtergebnis

Note Betriebliche Prüfung 4,00 x 3 = 12,00

Note Schriftliche Prüfung 5,00 x 1 = 5,00

Summe 17,00 : 4 = 4,25
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